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I F R 3Te? Instructions to the Candidates

1. SFicarl &1 JiAemsa Hdes # Yecd S=RAT & U W 3l fof@d oler & fov gy aw
81 e 39 U A & IETAR HERTH AT g1 §, A 39 3FAlealt TaEl dR | E W
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Candidates have been called for written test based on the data furnished by them in the online

application. If you do not possess the required qualification as per our advertisement, your candidature
will be summarily rejected.

2. 3o Ower qF XA F uger el qeA-qReas vd T UH 3R IcR-Afie # X v et
T ¥ 96 ol

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet
before start answering.

3. WeH-9H, 80 WeHl & WY WRA-YREH & ¥ A §, AT fqamor Fetad § T g @S 9o 1 3w
F ¥ ouF ax FeeT & 098 & Sad v [Aeeq orEe a8 &

The question paper is in the form of Question Booklet with 80 Objective type questions based on the

curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.

4. YA & M A IR 3eaRk Me F RA 10 3EgeRl & AR, I UA IR 3cal M H Hord
AT T ATC/HTel TR & dict G5 IeT A HIAT Fh TET 3cdX F T FLT Bl

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen, only as per the instructions given in the OMR answer sheet.

5.y YReder A fqd a1 v o 31l 39 A1 U9 AT ford |
Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
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9T Tl ek &1 o ToIT 31elT ¥ U 30 T 31 oNe v BT sar &

A separate OMR sheet is provided for answering the questions.

AfF AR Ieal GFeaept 1 =0T F Thed far o7 367 8, 0T el 7 Foer/gersen
AT AR Faunh skar I @ifv) 1% 3RARed AR i yere A8 dr sruet

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling /
bubbling answers. No spare OMR sheet will be provided.

e YR § fif g F19 ) AT wa gRawr F15 (ABIC/DIE) # 3 TH IR Fer o #
F v wum w RrEr s aifye

Question Booklet Code (A/B/C/D/E) printed on the top right corner should be written in the
space provided in OMR Answer Sheet.

TS YT 1 3 M §, Ieol o & W AT 3% 3R I0d 3k & AT 0.33 HoneHT 3w R
TR H Th H 3H8F Ical ITedd Icadk AT 9|

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong
answer. Multiple answers for a question will be treated as a wrong answer.

TR §TeT & 3T Holpeicy, HSTger Wi, TAC A, $5UC, Va3l Tk, IOk dlforenr, S
T A AT FG Hed AT Aole & S 1 Fgafa 787 ol 3 @ gy o3 a1w ar 3%
qOeT & B AT el & snelt R UW MR @ Aediee T R Smeem ik
3FAIGART & fAEG 3T THsh e arel FE FRars A& 6 | 36 F6T F gAY deumse
W gl § & FHIRI A& 1wl ¥ arest B e aiie

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red
hand, they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal

action as deemed fit will be initiated against such Candidates. Instructions in this regard, already
published in our website may strictly be followed.

T 9 H U T HI 3UANT I0 HY & (30 AT 57 Ghar &)

Space available in the Question Booklet can be used for rough work.
qﬁmmaﬁw,wwmmahﬁﬁmmwﬁmﬁm‘#mmaﬁaﬂmm
see e orleTs 1 g7 T & aur st geelde ufy st e o @ o et e R e
®ISd FHY FATOF AEUTAl acdell a1fgv]

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at
the top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate
copy with candidates. Utmost care should be given while tearing the OMR Sheet.

oAl B alET FACT g F aIG Fad TET gl TS A 3TAra L

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
et & 91G, IFAGERT H I T IR 3ecR JRead 3R sEaniRa gdwr o wddess & dia

aiEel S eaiial @ yar o wdider F A diar €, 39 3w 3R e | A & T
o w167 fomar e gaer o foer fRE smear & udders @ diaer i SRy it &

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will

not be considered for evaluation. Responsibility rests with the candidate to hand over the admit card to
the invigilator without fail.

WWW$mﬁﬁﬁwﬁ$wm,mﬁmmﬁgﬁm$ﬁvm
I off weaT few amvw E

The questions in English version alone will be taken as authentic though questions are given in Hindi
also for the convenience of the candidates.
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X' & HT AT ST
Find out the value of ‘X’

e .}.i--‘ je——100.25————> 4 T—m
[-25 -+ M- 25 - 420> 201

/a7

7 / |

afg ar #fet FRIRT 8, a1 4 Rwel 7 32 ueahl &1 3cugsT BFFar ar &1 I a7 mh=t
@l 3 Rver & AT fear S, ar fhdel a@sr & scaea fear o1 Tehar &2

If two machines are employed, 32 components are produced in 4 shifts. If three
machines are employed for 3 shifts, what is the quantity that can be produced?

(a) 26 (b) 36
(c) 46 (d) 16
Teh Gl @1 &1 HIoT §

The angle of a straight line is

(a) 360° (b)y 0©°
(¢ 90° (d  180°

fordl gea & fondll fig W wueiar qanr s&h Bsar & @ s=rar o/ oy §

The angle made by a tangent at any point of a circle, with its radius is

(@) 270° (b)) 0°

(e 90° (d  180°

SIEHE H dIAT $r shis &

The unit of Temperature in ST Unit is

(a) UREHd / Pascal (b) AT / Centigrade
(c) fead / Kelvin (d) WREET / Fahrenheit
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10.

Sin 45° &7 #AT &IdT §

The value of Sin 45° is given by

(a) 0.7971 (b)  0.7071
(¢) 0.75 (d  0.7571
TaROT i 59 YehR RSN fhaT T §

The acceleration is defined as

(a) TAT & FUE @ # 9RadsT / Change in distance with respect to time
(b) THT F FIeT &F H URadel / Change in area with respect to time

() THAT & FIeT 991 #H uRdde / Change in velocity with respect to time
(d) TAT & [aeT f&em #F gRade / Change in direction with respect to time

fAefaf@d & @ Fl A1 T Fad 37 2
Which ratio is the greatest among the following?

(a) 4:20 (b) 6:20
(c) 6:24 ; (d) 10: 24

gerel & 91X 39 YR gRenfa forar o §
The weight of the substance is defined as

(a) AT 91 T AET / Quantity of matter contained

(b) Helca 3R 3MAAT Fr a0TA%hel / Multiplication of density and volume

(¢ T8 o Od T’TCﬁ 39T 3R 3T Fdl § / Force with which the earth

attracts it

(d) T8 s 98 IgaAT 39 3NT AT § / Force with which the moon attracts it

diec arel S H diee & 3t fhar Srar &
In a bolted joint, the bolt 1s subjected to

(a) 39EYUT dA1d / Shear Stress

(b) TUIET g / Compressive Stress

(c) #ATT =119 / Principal Stress

(d) T dag / Tensile Stress
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11.

12,

13.

14.

15.

16.

Aote dieiAifed & FiRw garar w41 22

What is mechanical efficiency of a diesel locomotive?

(a) Wihide I I/ g ra¥ / Indicative Horse Power/Break Horse Power
(b) Icuried HR/Fer / Work produced/Energy

(c) o BT UIay/HHTas &4 UTaY / Break Horse Power/Indicative Horse Power
(d) 3WIFT H A FI15 FA8T / None of the above

et gerel @ fafirse aea @ 2

What is specific gravity of a substance?

(a) Yer &1 Ueicd UGy & A dF / Density of the substance to the volume of the

substance

(b) 9Erd & AT IS & gTAT dF / Density of the substance to the mass of the

substance

() UeY &1 °Acq UET & Usicd & AIET / Density of the substance to the density of

the water

(d) YEr & "dca TR & IS & qrdeT / Density of the substance to the volume of

water

g I Y& T Fgaldl §

Purest form of iron is called

(a) @edT @gT / Pig Iron (b)  SG <&l / SG Iron
(c) Torar oigT / Cast Iron (d)  d9Ter §'31T W8T / Wrought Iron

T B ITH FT 3T AT F AFHT AT FEOT &

Heating of Steel and quenching in Oil is associated with

(a) WA U / Solution annealing  (b)  TsiITalar / Annealing
(¢) 3R / Hardening (d)  ¢FaREr / Tempering

ferdlY gerd &1 g5 0T oS qaWT 98 N A JHR F q9F 37 ST §, Hearar §

Property of a substance by which it returns back to its original shape is called

(a) AT / Malleability (b) oI / Elasticity

(c) deIdr / Ductility (d) cenfFeRACr / Plasticity
140° F &I ez # aof

Convert 140° F into °Centigrade

(a) 64°C (by 68°C

@ TC (d 60°C
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18.

19.

20.

21.

A= =g arell a1 ol & & %ig doc g/sa &1 FAT JTd g &7

What is the effect of crossed belt drive between two pulleys having different diameters?
(a) &t gﬁf TH g aa @ ‘t'lc:ﬁl?ﬁ' / The two pulleys will rotate at the same speed

(b) amdr ‘C_g?‘ﬁ THh gy feemr # ﬂﬁ?ﬁ / The two pulleys will rotate at the same direction

(¢ @t el Jrerer-3rerer f@wm # gEef / The two pulleys will rotate at different
direction

(d) a&r g?ﬁ Tch E{Hi’ HI T HT &3 / The two pulleys will cancel each other

S R’U 77 R e F ¥ ST g & 99 399R § g6d T8 82

Among the four operations given below, which is not associated with heat treatment of
materials?

(a) T &M / Soldering (b)  HHAEOT / Normalising
(c) ¥dg R / Case hardening (d) dIa § Tsd / Stress relieving

i AT & Fared & aRe FAfaf@d # § i 91 a1fd gidr 87

Which one of the following is the movement of the honing machine during its operation?
(a) 83T / Horizontal

(b) FtareT / Vertical

(c) AR Ud YRTINS / Vertical and Reciprocating

(d) YREIRF / Reciprocating

HHAGK W V sl &1 GEATAT SIoT &= giar &7
What is the included angle of V Blocks generally?

(a) 45° (b)y 75°
() 90° (d  30°
e Toc g gl & =t gt 87

Surface plate is made of what material?

(a) U@\ﬁﬁqﬂ' / Aluminium

(b) FCoTold FIel / Stainless steel
(c) Tora & urd / Nickel Alloy
(d) FOR T IT IS¢ Ic2X / Hardened Steel or Granite Stone
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22,

23.

24.

25.

26.

TSR T A TgFT WA §

The material used for making a Scriber is

(a) #g $EUTd / Mild steel (b)  arer @ 81q / Copper alloy
(c) Tl AIET / Pig Iron (d) @SR ¥ / Hardened Steel
HeX oF & fig T ger ¥

The point angle of a Centre Punch is

(a) 30° (b)  60°

(c) 45° d  90°

3l 99 HT Y97 fhar Sirar
Dot punches are used for

(a) fSaEsY oo &I 3RT die & & AT gob UT WA I / Making light punch

marks to give proper seat to the divider leg

(b) f3a CIU'IEE FI 3l Wi ¢ & AU 3 9T AR o= / Making wide punch marks
to give good seat to the drill point

(c) HAIH Eﬂ_(:lﬁ'ﬂ- R 97 Reg 9417 / Making punch marks on soft metals
(d) 3aTE TOegl 1 9T HLAT / Punching witness marks

gdls & g5e I e & & U 35 Ry av ‘308 g &7 3R gar &
The shape of the ‘eye hole’ provided in a hammer for fitting its handle is
(a) AR / Circular

(b) @&l TRT & ALY g% 35N 3R 9der / Oval and tapered from both ends to the
middle

0 THERAYT @T Y d& MR 3R 9ger / Circular and tapered from one end to
the other

(d) 97 / Square

ek & Ak T el et HT R a7l & Tov fv g2l &1 39T R sirar &2
A hammer used to form the rivet head by spreading the shank of the rivet is

(a) Teler glar / Sledge hammer

(b) AT FUET / Teflon hammer

(c) ¥rem 9T gAier / Straight peen hammer

(d) CICRCIG] g1 / Ball peen hammer
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28.

29.

30.

31

e & gBaR F 39T g §

The use of Ratchet screw driver is

(@) %@mm%&&@mm%mmmaﬁﬁmm%aﬁm

AT gidT & / This screw driver has very short shank and is used where there is
limited space

(b) 3H YFR & TF BN & 304N & Told AT o Ad & AT fHar Sar g /

This type of screw driver is used for fast motion while driving a screw
(©) wm%qsmﬁﬁﬁﬁﬁwﬁ@aﬁ%m@gaﬂaﬁ'ms‘lm%/Thistype

of screw driver has bent shank with points at both ends

(d) 3§ & IBHR A Ale A Folicy § AR Ig HIF SR H1 § / The tip of this screw
driver has slots and is cross shaped

Alde AT & doHE= W T aa 82

At what temperature are the standard measurements are taken?

fa) 22°C (b)y 15°C

() 20°C d 28°C

SI gehrs & oS Y YR SHE &

The base unit of length in SI unit is

(a) TEHAT / Centimetre (b)  SHHAET / Decimetre
(c) #HII / Metre (d) Fel#EeX / Millimeter
R 15 A5 & MR o1 & &

The base of the vernier height gauge is made of

(a) TAH T / Stainless steel

(b) Hg T / Mild steel

() UegdAlaaA e arg ar oral oIl / Aluminium alloy or Cast iron
(d) gof et / Tool steel

T ARt AGHIACT & ~geTaHin giar §

The least count of a metric micrometer is

(@) 0.05 & / mm , () 0.02 AT /mm
(c) 0.001 TAHAT / mm (d  0.01 AT / mm

8 779-TN(F)



32.

33.

34.

35.

36.

el g T gigar o o9 & Qv F@d 7 @ Fg 3ueRer & 3uder fear
ST 872

Which one of the following instruments is used to check the concentricity of the outside
diameter?

(a) TfAT HFAW / Vernier caliper

(b) SIS 9{&ToT Fah / Dial test indicator
(¢) 3 HierdX / Dial caliper

(d) e AShIART / Outside micrometer

gl Far$ A9 & frw s W AT AW & fssE # wadg [T S 87

On which part of the vernier height gauge, are the main scale divisions are graduated?
(a) AT e / Vernier plate

(b) & / Beam

(c) H&A FARIS $as / Fine adjusting unit

(d) 3T / Base

g6 IO ST 90° W IHF We] 180° F A &I, FEgellel ¢
The angle which is more than 90° but less than 180° is called

(a) FHPIOT / Right angle (b)  FIAPIUT / Acute angle
© Fg FI0T / Straight angle (d) A& HIT / Obtuse angle
A & IYART & ol Idsd|

Give the advantages of using a gauge.

(2) TadieTor ¥HT S9Tar § / Saves inspection time

(b) 3c9Tea Faldl & / Increases production

(c) At Hr [AFHAT T WeTH ST & / Enables interchangeability of parts
(d) IuUFa T / All of the above

o 57 9 fndlt o g fr TS & AAS A, 8 [FEsh SanrT g S =g
In case of any burr on slip gauges, it should be removed by

(a) WISfdT / Filing

(b) TES GYUT / Precision grinding

(¢) THY & Ui & / Polishing with emery

(d) ofYeT / Lapping
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38.

39.

40.

41.

Y ol N FREES & WY MW A F v H=af@a F F 5w a5 &1 s7aer
ST &2

Which one of the following gauges is used to align the lathe tool with the work?
(a) T¥RIoT YFTAT / Tri Square (b) g I / Centre Gauge

() a9 35T / Slip Gauges (d) 98 NI A / Thread Ring Gauges

FRMAHT F AT 39T & v fha 35 & T I F1 3991 far orar &2
For general use in workshops, slip gauges of which grade are used?

(a) ¥3 — 0 /Grade-0

(b) AT — 1 /Grade—1

() ¥ - 2 /Grade-2

(d) IWIFd H ¥ S 761 / None of the above

Hid A HICeT aATel FYHIOT HT 3UANT 3T dicsT $T aTa I HAT ST FeveT 22

Which cutting tools can be used at higher cutting speed?
(a) W &fcar FEed / Free cutting steels

(b) @B TS e / High speed steels

(c) cIrFea EFI?ﬁ?;.?I / Tungsten Carbide

(d) 3IRieFd H A BIS Aar / None of the above

aEd TR & FeA & AT GGF HIET T Pgdm §
A cutting tool used to cut outside threads is called

(a) {FAT / Reamer (b) 3 /Die
(¢c) &9 /Tap (d) 3 /Drill

Al [Pdser &1 7k @ W o g & g F AU IR FA TS arer i g
SHT 3USROT ¥ S FAT FET ST &7

A wedge like tool used for removing the taper shank tools from the nose of the machine
spindle. What is this called?

(a) T3 T& / Drill chuck (b) T3 &1 / Drill key
(¢) f3a Alehe / Drill socket (d) 3 Bwe / Drill drift

10 779-TN(F)



42.

43.

44,

45.

46.

A& & & &l AT UeA WIS & IS5 & 787 2Tar &2

Which one of the following designations does NOT denote the grade of the file?
(a) 9RCS /Bastard (b) WEC & / First cut

(c) HhS e / Second cut (d) ¥¥ /Smooth

& Folc IS BISd & ol aih &

Both sides of a flat bastard file have

(a) @IS He Aal / No cut (b)  UHA FC FC &I / Single cut teeth
(c) 59 #C gV &1 / Double cut teeth  (d)  WGYEN & / Wavy teeth

Taic HRAST I ST &
Spot facing is done to
(a) 3o U 90 B & 31'6" FI I3 ©3IT / Deburr the mouth of the drilled hole

(b) TG P FAdS AT ifeh diec F X Tag W 3T T o dF / Make surface
flat so that the bolt head can take proper seat on the surface

(c) T3 fFU a0 B¢ T 3= R & / Give fine finish to the drilled hole
(d) HISEr B8< T 937 FY / Enlarge the existing hole

10 TR =1 & U B¢ @ g5 I F @ fFar S g1 fFT & Qe srawgs o @+
PR BT TIfew

A hole of 10 mm diameter is to be finished with a hand reamer. The hole size required
for reaming should be

(@ 9.75 AT /mm (b)  9.50 FH / mm
() 9.00 FHT / mm (d  8.80 A / mm
i & gt s fr a7 ek s &

The rate of feed during drilling depends on

(a) 3HTIIS AT g / Finish required

(b) 3YHLOT S FHIAT ¢l (f3e1) / Material of tool (drill)
(c) 3o &1 S arelr "I / Material to be drilled

(d) 3T G / All of the above
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47.

48.

49.

50.

51.

A warding file is nothing but

(a) TUIC PISAT dfehel dlss H Ueh A / Flat file but uniform in width

(b) BT I W AfFa d@ise 7 Tl / Hand file but narrow in width

(c) TUTC WIS oifehed HIels # ddell / Flat file but thinner in thickness

(d) HUE B AfheT Al H Tcell 3R TH FHART / Flat file but thinner and uniform

in thickness

afy ST #r REwT s & & & & R¥T §7 F e A s ar =1 gen?
What will happen if the job is loosely fitted between centres in cylindrical grinding?
(a) STid I § ST 819 / The job will be out of round

(b) KICH 3§H &3T 8191 / The job will be oversized

(c) ST &Y fAehel ST / The job will be thrown out

(d) ST T8r EEEI?IT / The job will not rotate

HARART AT & 3TAR, TS5 et &1 ‘M IS FHg & 3cdld e §
As per the Indian Standards, the ‘M’ grade of grinding wheel comes under the group
(a) HeraH / Soft (b)y AEIA / Medium

(¢) oR /Hard (d) E!g?f FoX / Very hard

fFfaf@a # @ i a1 I Tavels W e g 9T gy 41 asasy & [ufd d g &
AT T G&Har §?

Which one of the following reamers can adjust itself in case of slight misalignment when
fitted on a tailstock?

(a) AR IFX / Parallel reamer (b) TR {FAX / Taper reamer
() UsorEeHd AT / Adjustable reamer  (d) Farredr AT / Floating reamer

3-TerE 93 @ g, s & ——— ¥ Renfog &= W ured gidr &l
The pitch of a 3-start thread is the lead divided by

(a) 2 (b) 6

(© 3 (d)

12 779-TN(F)



52.

53.

54.

55.

56.

T 95 & R oy gar @
The pitch diameter of a screw thread is the
(a) O3 &l ATHATT I / Nominal diameter of the rod

(b) ¥5 F 9HW AR oY FE & dF F Fledd A8 / Imaginary diameter in
between the major and minor diameters of the thread

(¢) ¥US HI +GAdH & / Minimum diameter of the thread
(d) U3 F1 HVHIA AW / Maximum diameter of the thread

Beay afSier &1 3uATer forar smar &

Silver brazing is employed for

(a) 3= faggd dTehdl I MaRTehcl dle faggd SN &1 SN / Joining electrical

parts requiring high electrical conductivity
(b) 3IHAT UIF;B-TT &l SIS / Joining dissimilar metals

(c) TIReA FEss fevg &1 sfsier / Brazing of tungsten carbide tips
(d) I9UFd FAT / All of the above

FESIeT alRR &l 30917 7gq & A —— fr e & v fFar amar
Spring washers are used under nuts to prevent

(a) dreT @r &M / Damage to the bolt

(b) € &I ahdlel / Damage to the nut

(¢) SIg & 41l / Damage to the job

(d) YT F FROI SICH T @lemdsT / Slackness of nuts due to vibrations

T Hlest S8 &

A soldered joint is

(a) SIS & FASIK / Weaker than brazing
(b) T & AT / Stronger than brazing

(c) dfesT & Halgd / Stronger than welding
(d) FRFT HF I Eﬁl’é’ el / None of the above

Ife fordll i & ITaR T Braar 20 el 3R Fars 30 e &, O S8 A SUeT ¥

If the radius of base of a cone is 20 mm and its height is 30 mm, its volume is equal to
(a) 4500 n TAHAR /4500 © mm?2 (b) 3800 n THAT /3800 1 mm?
(¢) 4200 7 TAHAE /4200 7 mm?2 (d) 4000 m THHE /4000 1 mm?2

13 779-TN(F)
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58.

59.

60.

61.

afe B & Aigger 6 ¥ 3R TR 7 ot & wer 24 B, o FRE 1 " ddhe o ©

If module of the gear is 6 and the number of teeth in the gear is 24, the pitch circle
diameter of the gear is

(a) 180 & /mm (b) 160 FHT /mm
(¢) 144 TAHT / mm (d 120 T&HT / mm

ST &7 39T AT ST §

Bearings are used for

(a) e & Tk ARTT ufd & T@RT 1 3R 9sHs=r / Support and hold the shaft in
a fixed position

(b) 2MHE T FIAT T A Telal el / Allow the shaft to run freely
(¢) =YUT fHAT FT & T / Minimize the rubbing action
(d) 39FT TG / All of the above

Hifed TR & gaa A e g F v aesw 3R aifed e & S s 65
ST atel FRI T eT S §

A gear used between the driver and driven gears for changing the direction of rotation of
driven gear is called

(a) g X / Worm gear

(b) 3MEsSeR T / Idler gear

(¢) ddd X / Bevel gear

(d) 3Tad #H q &S 78T / None of the above

farel 3R A FTa A R R WA & 9 F AR B Fer S §
The difference between the high limit and the low limit of a size is called
(a) 3TeT3d / Allowance

(b) fFaIH / Clearance

(¢) TTe® / Tolerance

(d) 3Red & 4 Eﬂé el / None of the above

gre §25¢0.0211:0.000 3T QAMFE ¢ 30 01100149 F i HRIPAA FoldH &

The maximum clearance between the Thole  $25¢0021/0000  and  shaft
¢ 30 (-0.110/-0.143) 1g

(a) 0.164 T&F / mm (b)  0.110 TAHAT / mm
(¢) 0.131 &HT / mm (d)  0.143 TAFA / mm
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62.

63.

64.

65.

gstder e & fow T 3T 3aEor §

Best example for a driving fit is

(a) ATFE 9X &fel ST / Ball bearing on the shaft

(b) I & 9fgd W TR / Tyre on the rail wheel

(c) AMFT W & & FY Yelr / Pulley with key on the shaft

(d) RS & qfgd W IMET 1 NA / Cart rim on the wooden wheel

U T ST e @1 20 Hi/g6 & &9 & Rfdse saier & arr fve fear amm ¥ fee
FT YHR FIAT §2 (20 HT ¢ 200+0.021/-0.000) 3T 20 g6, ¢ 20C0.007/-0.020))

A gear box shaft is fitted with bearing specified as 20 H7/g6. What is the type of fit?
(20 HT is ¢ 20000200000 and 20 g6 is ¢ 20-0.007-0.020))

(a) TFeaiT e / Clearance fit

(b) TifSeeT e / Transition fit

(c) &Ed8T e / Interference fit

(d) #RT gEd8T fve / Heavy interference fit

ferdll 3eare & Iurdcar sl wEr Seh § S

A product is said to have the quality when

(a) TR AR 3R 3w @3 & faT g / Its shape and dimensions are within
limits

(by ITIB E§H 3T Ydid giar & /It appears to be very good

(©) IE 3TN & T 3UFFA § / It is fit for use

(d) GrEIT F e TEl & / The choice of material is right

T T & @ Aseng aca §

The chief alloying elements of Stainless steels are
(a) ITATH 3R T9FeT / Chromium and Tungsten
(b) SITATH 3R e / Chromium and Nickel

(c) Toloher 31K daf2¥H / Nickel and Vanadium

(d) e 3R Afdssa1# / Nickel and Molybdenum
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66.

67.

68.

69.

70.

71.

g o7 oras gamr ang @1 e F d%er S WHAT §, FEendm §

The property by which metal can be rolled into sheet is called

(a) @I / Elasticity (b) g@?@f’q / Malleability
(c) Il / Duetility (d) AR / Tenacity

s vis ¥ 7 e e a@ §
Main alloying element in High Speed Steel is

(a) <IFed / Tungsten ()  IfAIA / Chromium
(¢) dAT3T#d / Vanadium (d) iEree / Cobalt

PR # & FaT @ a1g HeTRor SRR 32

Which one of the following metals is corrosion resistant?

(2) THARTH / Aluminium (o) f&=T /Tin

(c) it / Copper (d) HSes el / Mild Steel

C50 T & T °ceh Pl 830°C dAeh 1 fohdl STl §, S8 dIUH R F& FAT & fow
T ST § 3R R de & gEmr Sar g1 38 R 600°C a1 faRAr ST & 3R
el FHIAT ST 1 FSAT 3UER T 57 Yiehdr &I =1 aA1sC|

One component of C50 steel is heated to 830°C, soaked at this temperature for some time

and then quenched in oil. Again it is heated to 600°C and quenched in oil. Name this
process of heat treatment.

(a) UWAITIIT / Annealing

(b) HAIEIOT / Normalising

(¢) grsfeer 3iR &FuRer / Hardening and Tempering
(d) g g1 / Case hardening

FTI AE BT AT AL FAAT AT FhelT FAMH SHHA FHSHT AT BT ©

Cast iron cannot be forged because it has the property of

(a) oIFAT / Softness (b)  ORAT / Stiffness
(c) Tedl / Toughness (d) SFBFIT / Brittleness

3T Fleed TId & U JAfsad wifsr aua= §

The maximum forging temperature for the high carbon steel is

(a) 1100°C (b)  1300°C
© 900°C d  1150°C
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73.

74.

75.

e & ¥ 59 96R & SiEt & 39 G S ¥ Sed v e & Ry @
gl e & Y W T@r S § 3R 37 v @y ST o 82

Which among the following types of joints is used in which the end of sheet is placed over

the end of another sheet and joined together?
(a) §¢ SIS / Butt Joint

(b) T g / Lap joint

(¢) s 31T A3 / Knocked up joint

(d) ez WA NS / Grooved seam joint

ag fEufa fSE# deg AT ged 3 &

The position in which it is easiest to weld is

(a) Wele / Flat (b)
() 8&fasT / Horizontal (d)

FEAT / Vertical

39X / Overhead

afesaT #, g ([Aegd urT x dleesr x gag/Afese aifa) ar &

In welding, the formula (Current x Voltage x Time/Welding speed) gives the

(a) afese & T e $eTqc / Current input for welding

(b) afesT & fav e $19C / Heat input for welding

(c) dfeser & AT aicear $eTIC / Voltage input for welding

(d) S WRFIF I ﬁé el / None of the above

it s & fov RFERET @ # 1t & gesa & v BR@a & ¥ fraer

39T fRAT ST §7

Which one of the following is used to hold a cylindrical rough casting for turning

operation?

(a) ¥ ST 9 / Three jaw chuck
(b) R AT T% / Four jaw chuck
(c) lelc T& / Collet Chuck

(d) 9T "FH / Magnetic Chuck

17
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T 1.

78.

7.

80.

Y dF oAl §

Lathe bed is made of

(a) g TIel / Mild steel

(b) TdT AIET / Cast iron

(c) 3TT FeaT T / High carbon steel
(d) 3= @ 4rd T / High alloy steel

=fef@ad & @ F9 9R § F=d &g & Algd AT [og 9w T 82

Which one of the following types of chips is found while turning
Cast Iron?

(a) < HATIER " / Long curly chips  (b) @sid H@ / Segmental chips
(c) 3Tl'§—3W % ™ /I-shaped chips (d) Tfger g / Spiral chips

fAeATaf@d & @ &l |1 HIT AU ol H RTH & HHA Jalg H Heg Har g2
Which one of the following angles in the lathe tool helps for easy flow of chips?
(a) &% Ferad®@ #10T / Back clearance angle

(b) e TFAIIH FIT / Front clearance angle

(¢) oY Y& T / Top rake angle

(d) T3S Feradd FI0T / Side clearance angle

delld dfaee, deld HX & ¥ fenfaa &= W area g gl
The tensile stress is the tensile load divided by

(a) HRIES & daTS / Length of the work piece

(b) FRIES FT HIE AFUTA &7 / Cross sectional area of work piece

(c) HAEs &1 IRT &7 / Circumferential area of the work piece

(d) WS FT 3MAGT / Volume of the work piece

3k 3TeseT & HEN & gy # U 3T & 7T H a7 HG9Thdr g2

What 1s the necessity of the root gap given in joining parts in arc
welding?

(a) B T FT & AT / To avoid spatter
(b) TaF9or & FAIET FE & T / For controlling distortion
(c) Toerelr gé iﬂ"@ & AFd 9dg & ToIT / For free flow of fused metal

(d) SIS & A ds [ugelr g‘é ETIF__[ & YdT & ToT / For fused metal penetration till the
bottom of the joint '
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e FH * o A / Space for rough work
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F= S & [T W / Space for rough work
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